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6.1 {HE
6.1.1 {E& (BELISL)

RAKET =
BRI T == (L), > (R0 kS
), C(EDAEN, = (B E), <L)

A &&(H), [[(F=
i3), 1= (L)
E‘y]\?ﬁ%‘% &) ’) !7 .

6.2 Hil1HE 3

6.2.1 if 3

OO EADTHIE
NES e
FAT LR E D L),
)

elsef

FEATLEGRMMBDEZ);

power l.cxx

#include <iostream>
#include <stdlib.h>
#include <string.h>
#include <math.h>
using namespace std;
int main(int argc, char *argv[]){
//calculate the area of a triangle.
//command line parameter is angle C(degree).
int i=1;
double a,b;
double ans,myans;
char message[128];
a=2.;
b=10.;
ans=pow(a,b);
strepy(message,"What is 2 to the 10th ?(Calculate 2" {10})>");
cout <<message;
cin>>myvans:
if(myans==ans){
cout << "Right !" <<end],
1
elsed
cout << "No..." <<endl;

}

cout << "Your answer is "<< myans <<end],
cout << "Real answer is "<< ans <<endl;
return O;

}

power_l.cxx :20D10FZHE THT TS T L



6.2.1 if 3T (%7)

OGN 3DOLL Fd b, else if &
fii>T

if (G411

FAT LI INE D EX);
}
else if (Z&14:2)1

FAT 22N ED LX),
}

else {

EATSC3(SAEL,2 LD LX):

a<b’rDOb<c LV VI)FMHAFRLTIR
a<b<c ELTIIWTZ2uN,

#tinclude <iostream»
#include <stdlib.h> power_ 2.cxx
#tinclude <string.h>
#tinclude <math.h>
using namespace std;
int main(int argc, char *argv[]){
//calculate the area of a triangle.
//command line parameter is angle C(degree).
int i=1;
double a,b;
double ans,myans_l,myans_u;
char message[128];
a=2.;
b=10.;
ans=pow(a,b);
strepy(message,”Estimate 2 to the 10th ?(Calculate 27{10})”);
cout <<message<<endl;
cout <<"lower?> ”;
cin>>myans_l;
cout << upper?> ”;
cin>>myans_u;
iflmyans_>myans_u){
cout << “The lower limit is larger than the upper limit. Exiting” <<endl;
return 1;

\
J

iflmyans_u==ans||myans_l==ans){
cout << “Blngo! <<endl;
1
else iflmyans_l<ans&&ans<myans_u){
//never write myans_l<ans<myans_u !!
cout << "Your estimation is right. The answer in in your range.” <<endl;

1
J

elsef
//never write myans_i<ans<myans._u !!
cout << ”"Your estimation is wrong. The answer in out of your range.” <<endl;

}

return 0;

1
power 2.cxx :2D10FEHEE T DT BT T A,



6.2.2 switch 3

#include <iostream>

#include <stdlib.h> power_3.cxx
#tinclude <string.h>

OswitehlZL D575 AT HE #include <math.h>
switch (’}jééﬁ) { using namespace std;

’ﬁil _ int main(int argc, char *argv[]){
case 15 . //calculate the area of a triangle.
%{Tj{l; //command line parameter is angle C(degree).

break; int i=1;

double a,b;
case 1@23 double ans,myans;

j%??j(& char message[128];
break; a=2.;
b=10.;
ans=(int)pow(a,b);
FIT3 strepy(message,”What is 2 to the 10th ?(Calculate 27{10})>");
break: cout <<{message;
’ cin>>myans;
} switch((int)(myans—ans)){
case 0:
cout << “Right!” <<endl;
break;
caseDfEEL CEILADIE., L LI FE default:
cout << ”"No...” <<endl;

break;
1

default:

S . - o — - lcou << "Your answer is “<< myans <<endl;
{£;§62 ﬂh\@iﬁf£7 =5 7A%%b \T%LJ:D (;J:% couE << "Real answer is “<< anZ <<endl;
tﬂﬂiz_\‘g) return 0;
OHFEIDN-FFIREHET LT 0T T A,

ERITa~ R4 518EL T, EfRETIREY power3.cxx :power l.cxxZswitch
a7 7 L5 TANTIT5, EfFE o TEIHZ T-H D,




6.2.3 FVIKL 3L

Ofor 3 : P F 7[RRI 3
for (FJEAML; SottF; A& Om LB
AT

Owhile3C SN TS ARV IR T
while (Z&1) {
—_— #tinclude <iostream>
EAT #include <stdlib.h>

} #tinclude <string.h>
#tinclude <math.h>
using namespace std;

fact l.cxx

int main(int argc, char *argv(] )
{
//calculated the factorial
int n,i,ans;
iflarge>1){
n=(int)atoflargv[1]);

}

elsef

&t "

? }
ans=1;
for(i=1;1<{=n;i++t{
//i++ is same as i=i+1

Yt/ Ltab T4l
i=i+1; DFLH
IZECE

i=i-1; &i--;
cout << i<< "¥t” << ans << endl;

il_‘lli,w }

cout << "H L<nkK '= <KKans K< endl;
return 0;

) fact_1.cxx

X )9

ngh%%flfl‘ RN W A T A N

ttinclude <iostream>
#tinclude <stdlib.h>
#tinclude <string.h>
#tinclude <math.h>
using namespace std;

fact 2.cxx

int main(int argc, char *argv[])
{
//calculated the factorial
int n,i,ans;

iflarge>1){
n=(int)atof(argv[1]);

1

else{
n=1;

}

i=1;

ans=i;

while(<=n){
ans=ans*i;
cout << i << "¥t” << ans << endl;
It++;
//i++ is same as i=i+1

}
cout << "#” << nk" = "<Kans << end];
return 0;

}
PERAEHAETDH T 0T T A

(E5]%
(E5%%0)

fact_2.cxx



a=a+tb;

a+=b;

IZIRICE R,

+DORPVIZ-, /, * B FH T RE

HE6.2.3 MDIH 70l T b ENTHLS FEHITAE)
fact 1 5 O % fact 5.datéL TE—7 L TE I, (cat TH R
fact_ 1% nOIENEIZHNTHE L TOLSEDICEE T 5, i— Zff), fact 3.cxx

fact 1% *= ZHWTEZHZ A, fact 4.cxx

<FERED

fact 3L T, UTHIZIBIOETOREE 25 BICEDEREZR T 70T T L% EFHNT
P9, fact 5.cxx

Scfor A28 TEHYMEEHY,




6.3 gnuplot
CCHELIERAHEIC T 7/{b L THERRL 72U
gnuplot : FHLRZ T 7HEEY 7~

$gnuplot T\L.H L053%, LLUT, fact_5.datdD&dHdirectory™
gnuplotZ . CT=E LU THIIR,

gnuplot » plot fact_5.dat”
S THORRIC 15 28580251 B 2t s L7=2"7 7 3|

gnuplot > set log vy — Htihzloglz 45
gnuplot > set grid —gridx K/~

gnuplot > plot [0:6][0.1:] ‘fact_5.dat’ using 1:2 title
“factorial” with points pt 3

TEHORRIZ ETFHLINIEX,y, Drange
usinglIFNZFEE title CHLENATIT D F A2 E
with UL F C~—b—0DOfFEELEE,

~ /a7 7 A)VEREINDT R ANT 7 A Za~v Ral
TR L T(show fact.pltZ¥ 7@ —R)

gnuplot> load "show fact.plt” L THEILZENTED,

EERDY— L = BEE A pdf filel U THRAF AT BE,




< gnuplotd =< K15 >
Yevxvx plot “filename” filename% plot

Yeyeye plot R(x) HZEpot O] x, xk*2, exp(x)
YeycYe replot “filename” filenameZ F-HEH

Yevcvx load “macrofilename”  finacroilename? 3t iA e

Jodo (un)set log x(y) x(v) B & log A — AT H(FEFRT5)
Yo% plotddA7ar []




V) —Aa—RT77A)V4 2016 jouhou_ 06 F£&3 5D T 4HT.cxx
H 17 7 A /V4 :2016_jouhou 06 “F£E45 = D T 44f7.dat
188 7 7 A V4 - 2016_jouhou_06_F5E 3K 5D T 4#1.pdf

AREG: LU T Otk 7 v 7 L8 EL ) — A3 —R LY
gnuplot THEEIL 72 i T1#E RO 247 H X

DT H : 0010 TOFEHEZ0. 14| B THRR
@21TH ExelL72UUTHDHEDFEE (exp(11TH))

KN

fft V=7 A —)L  (FiP
W : log A — L (&0
FETer I A 1O14T B 2R 21T B ZHEEi Tplot

replot exp(x) Texpx)EV VORI A FEXT AL

b b

i

o

1Z0~10)
1Z1~1ebH)
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